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SUBTRACTION

WORKSHEET

I. Solve:

A. Estimate the following by rounding off to the nearest 10.
a) 9560—5432 )-1/30 b) 6875 —4586 = 2290
B. Estimate the following by rounding off to the nearest 100.

a) 3760 —1782-9000) b) 5982 — 3650 =
C. Estimate the following by rounding off to the nearest 1000.

3) 4992 — 4559 = (). B 1855 — 1020 = SEOQ)
D. Subtract the following numbers. ’

a) 6836 and 8959 050 -b826 = )428
- - Va " "G
b) Takeaway6305 from 7243 = _L9& 4 — N5l ‘ (f'?’

E. Soive the following
a)&ﬁg +2494) 1241 - 46357 ) 3.}_—
b) 6745 + 36219825+ 2626 = 3 ,'l Dy ey

Il. Do as directed.
A. Subtract the following numbers.
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C. subtract the following numbers.
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D. A cinema hall had 2400 tickets. It sold 1924 tickets . How many tickets are yet to be sold?
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E. Subtract the sum of 6432 and 1572 from the sum of 5468 and 8542. /'
G142 +35F2 =
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